BESB . TEIL5B4.1. 5

¢ 220

0.097
0

¢ 440 "

12
11
10
9 FARIL $S400 | 2 |M16
8 FTANY—)L NBR 4 |ZF48
7 i SS400 | 1 |PT1/4
6 Hemie SS400 | 2 |PT3/8
5 F—i—Ev SS400 | 2
4 ARBRIL b SS400 | 4 |M36
3 NrES SWRH62B| 4 |M36
2 BEEL FC200 | 1
1 BRET FC200 | 1
et HRATH " E|BEH S
# B A
%
=
15
E
1
B OB JU-R
i
=
%
B
#
A
%
%
SD5S5 48
" B &

@ 62
4 ] . __\\
10 g B RSEEE
D U @D
= n [ =
740
880
340
(o) ()
@)
B i N\ |
(a)— 1 0
Rian )
T 2 - —X
amma—A i \—————
("TOHO: © - = ~ %“sbgas | 3

= i & | RE FREE
AR HE Bt HqE 5H
& 3 A 5]
X
&

TOHOKMAE#




B . YEILEB41. 5

¢ 220

0.097
0

® 440 ©

<;3 62
( ] C —
10 g B €t 8
&5} 0J e
\\\_ — [ _,/
740
880
340
9 120. 5 %0.2 /@
2 U{@
5 Jn// \\:I '3
(3} ¢ ) EQD
L m 9 |
/A B\ ) mg
(TOHD . ° - | __ ©sbg4sa) ®

12
11
10
9 FARIL $S400 | 2 |M16
8 FTANY—)L NBR 4 |ZF48
7 i SS400 | 1 |PT1/4
6 Hemie SS400 | 2 |PT3/8
5 F—i—Ev $S400 | 2
4 ARBRIL b SS400 | 4 |M36
3 NrES SWRH62B| 4 |M36
2 meELE FC200 | 1
1 BRET FC200 | 1
et HRATH " E|BEH S
# A R
%
=
%
s
1
B OB JU-R
i
=
%
i3
#
A
%
£
SD548¢G
==
" & 7E {8l
= A * | RE FREE
&R hE et HqE ER
& 3 A A
&
&

TOHOKMAE#




